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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) English as
a Second Language 0510/0511/0991/0993, and to show how different levels of candidates’ performance (high, middle
and low) relate to the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen from June 2019 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes and pre-release material used here are available to download from the School
Support Hub. These files are:

June 2019 Question Paper 11

June 2019 Paper 11 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support
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Example Candidate Responses — Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — Exercise 1 Reading, high Examiner comments

a This answer shows a lack of
1 How did Jennifer first find out about the job? understanding of the question
B AUDS BOIC (@ | and relates to how Jennifer feltin
her previous job. The phrasal verb
2  What did Jennifer have to do in arder to accept the job offer? find out’ in the question leads the
\ .
advert Gov chelk o werl . AndbarbiCeg 1 @ | candidate to select how she got
information about the job.
3 When is food delivered to the research station? i
~ Mark awarded for Question 1

YK by 6. QCCEMC e [}\ﬂ

-4 What does Jennifer find most difficult about her job? Examiner comments are \
weox Ming ok bow much. Sond A 0dl alongside the answers. These

explain where and why marks

were awarded. This helps you |-

Answers are by real candidates in exam conditions. to interpret the standard of
These show you the types of answers for each level. Cambridge exams so you can
Discuss and analyse the answers with your learners in help your learners to refine

the classroom to improve their skills. Ktheir exam technique. J

How the candidate could have improved their answer

The candidate showed understanding of the requirement of the task and provided suitably short answers in response
to the questions. It was clear that the level of vocabulary in the text proved challenging in a number of questions.
Identifying key words in questions and locating words or phrases in the text which correspond in meaning to those
question words could have provided more precise results.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

Most candidates answered with short phrases as the question demanded. There were some answers which were too
general and did not include enough detail, for example in (2), the response ‘medical test’ was not precise enough,
and in (7), ‘do exercise’ could not be credited without ‘before bed’. Some candidates included too much information
in their answer, as in (5) ‘apples and oranges’, and (8), ‘hot bath and shower’. In these instances, including the extra
information meant that the answer was wrong and could not be credited.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Example Candidate Responses — Paper 1

Exercise 1 Reading

Example Candidate Response — high Examiner Comments

1 How did Jennifer first find out about the job? Mark awarded for Question 1
.&...m.&ﬁm%.mg...ﬂg.\;gk...h@ ................................... feeeeresseren R Sl =1 out of 1

2 What did Jennifer have to do in order to accept the job offer? ' ' 0 This answer is too general.
A e A S i e R [1]0 The candidate needs to include

3  When is food delivered to the research station? . the S_pecific detail of ‘passi_ng’ a
Ak e el Q'g&m&\\\f [ Lnf:zical test to accept the job

‘4 What does Jennifer find most difficult.about her job? .
o ‘ ) Mark awarded for Question 2

(SCTOT SR ST U S S oY VEIN -UN VW S P\ o e WU =Y fe G ) =0 out of 1
5  Which food.did staff use to exchange for other things? ) ‘ | Mark awarded for Question 3
BRCKL B A CRAES e o 1] =1 outof 1

6 Why did Jennifer forget to wear. glasses one day? Mark awarded for Question 4

‘ =1 out of 1
She oas ous A nla... S DS e M
MR P e Mark awarded for Question 5

7  What advice does Jennifer give for keeping warm inside the research station? Give two details. =1 out of 1

’Q&Q&miaxq@r&\$aba€~o‘rgbeo& ..... :

A YA Q&Q'\‘V\Es%\'\t‘(\\%\x\—be'cuﬂig\ﬂ 2] 9 The candidate identifies the
Trhe bedk correct answer, but the misspelling

B Whatcogs Jontler mis? of ‘planing’ for ‘planning’ which

 IEARKLOSHAD 2 DO Pa‘ﬁzb - 1 creates another word, affects the

[Total: 9] mark.

Mark awarded for Question 6
=0 out of 1

Mark awarded for Question 7
=2 outof 2

Mark awarded for Question 8
=1 out of 1

Total mark awarded =
7 out of 9

How the candidate could have improved their answer

The candidate clearly understood the requirement for brief phrases and provided many good answers. More precise
reading of Question 2 would have enabled a more detailed answer. ‘Doing a medical test’ was insufficient to be
accepted for the job, she had to ‘pass a medical test’. In Question 6, the candidate needed to pay attention to the
spelling of the key word ‘planning’ in the answer, as the misspelling created another word and meant that the mark
could not be awarded.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner Comments

‘How did Jennifer first find out about the job?

What did Jennifer have to do in order to accept the job offer?

\
adverk. Gy ohel fo ekl i Avkarctioey ... m@
When is food delivered to the research station?

%Qei;)’Ud@{aC‘éCﬁ’}@ek ........................................................................ ul3)

What does Jennifer find most difficult about her job?

wvf%!'y@cd”howm%dqQo@h%ordﬂf

Which food did staff use to.exchange for other things?

Sk and vegebable. ... e 10

Why did Jennifer forget to wear glasses one day?

@%hﬁwasbugy@\qnm'ya,wy ........................................................ [1]

[

What advice does Jennifer give for keeping warm inside the research station? Give two details.
1:.do some exarcise. helor gelling. tula bed...........
Zg)o:/(}yourdo%ﬂg/‘n%céa({’(&ﬁngﬁlfbdme 2]

What does Jennifer miss?

gJMﬁ!QKl\@/)‘nQQD%}aa}ﬁ ............................................................................ [

[Total: 9]

ﬂ This answer shows a lack of
understanding of the question,
and relates to how Jennifer felt in
her previous job. The phrasal verb
‘find out’ in the question leads the
candidate to select how she got
information about the job.

Mark awarded for Question 1
=0 out of 1

e The candidate has not
understood the question and
describes the job, rather than
selecting the details for accepting
the job offer.

Mark awarded for Question 2
=0 out of 1

e In this answer, the candidate
responds to the question word
‘When’, but selects the first-time
phrase in the paragraph, which
describes the length of the winter,
rather than the time when food is
delivered.

Mark awarded for Question 3
=0 out of 1

Mark awarded for Question 4
=1 out of 1

o In this answer, the candidate
selects the correct section of
the text, but chooses the first-
named food in the paragraph.
The key question word ‘exchange’
corresponds to ‘trade’ in the text
and supplies the correct answer
‘apples’.
Mark awarded for Question 5
=0 out of 1

Mark awarded for Question 6
=1 out of 1

Mark awarded for Question 7
=2outof 2

Mark awarded for Question 8
=1 out of 1

Total mark awarded =
5out of 9
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

The candidate presented answers clearly and in short phrases. When reading the questions, highlighting not only the
first question word, ‘When’, ‘How’ or ‘Which’, but also key words which follow, for example, ‘find out’ in Question 1, and
‘food delivered’ in Question 3 and matching these key question words to similar words in the text could have improved

precision in answers.
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Example Candidate Response — low

Example Candidate Responses — Paper 1

Examiner Comments

1 How did Jennifer first find out about the job?” Mark awarded for Question 1
«.(o 7/6@ G o SRS £ =1outof 1
2  What did Jennifer have to do in order to accept the job 6ffer? " . ‘ V?rl;iv(\;?rfed for Question 2
Passa medicd Fest... i
3 When is food delivered tosthe research station? a The candidate responds to the
P SOLCEMDOL r @ auestion word When', but selects
) the distracting detail which relates
4 . What.does.Jennifer find most difficult-about. her job? . . ) to the time before the food is
Preking. s 15 r k.. dionis .
5 Whic;h food-did.staff use to:exchange:for other things? o ' : Mark awarded for Question 3
i) QYILILS .t m@| =0outof1
6 Why did Jennifer forget to wear glasses one day’) ) )

!

................... b husy. Planing. ot et

e The text describes many
difficulties faced in the job, but
the question requires only the
‘most difficult’. This answer
focuses on creating meals with
limited ingredients, which Jennifer
sees as something enjoyable,
rather than highlighting the main
difficulty, ‘working out how much
food to order’.

Mark awarded for Question 4
=0 out of 1

e In this answer, the candidate
selects the distracting food item,
missing the key focus of the
question which is the food used ‘to
exchange’ for other things.

Mark awarded for Question 5
=0 out of 1

o This answer identifies the
correct information, but the
misspelling of ‘planing’ for
‘planning’, which creates another
word, affects the mark.

Mark awarded for Question 6
=0 out of 1
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued

7  What advice does Jennifer give for keeping warm inside the research station?-Give two details.

C/Z(.f{‘;flrﬁ .......... R N S ——

peraenenas . i [‘ﬂe

[Total: 9]

Examiner Comments

e The candidate understands
how to present answers in a two-
mark question, and uses both
lines to separate the two ideas.
However, these answers focus on
general ideas found in the text.
and miss the specific details of
ways to keep warm, required in
the question.

Mark awarded for Question 7
=0 out of 2

e The candidate selects the
correct paragraph to find the
information, but misunderstands
the question and chooses the
first sentence in the paragraph,
without reading further to find
more precise detail which would
answer the question.

Mark awarded for Question 8
=0 out of 1

Total mark awarded
=2out of 9

How the candidate could have improved their answer

The candidate showed understanding of the requirement of the task and provided suitably short answers in response

to the questions. It was clear that the level of vocabulary in the text proved challenging in a number of questions.
Identifying key words in questions and locating words or phrases in the text which correspond in meaning to those

question words could have provided more precise results.

Common mistakes candidates made in this question

Most candidates answered with short phrases as the question demanded. There were some answers which were too

general and did not include enough detail, for example in (2), the response ‘medical test’ was not precise enough,
and in (7), ‘do exercise’ could not be credited without ‘before bed’. Some candidates included too much information
in their answer, as in (5) ‘apples and oranges’, and (8), ‘hot bath and shower’. In these instances, including the extra

information meant that the answer was wrong and could not be credited.
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Example Candidate Responses — Paper 1

Exercise 2 Multiple matching

Example Candidate Response — high Examiner Comments

9 For each question write the correct letter A, B.6f C on the line. 0 a The candidate correctly writes
A " the final answers on the lines
Which review-... o

. indicated.
(a) describes a service. which.allows léarners to speak directly with teachers? C [1] .

. ' Mark awarded for Question 9(a)

(b) compares the amount of content'in lessons with websités which gre ndt free? B 1] = Toutof 1
: < _ Mark awarded for Question 9(b)

(¢) suggests that the site may not be suitable for more expetiericéd playérs? o A T =1 out of 1
: _ A o ‘ Mark awarded for Question 9(c)

(d) suggests that the number of options on thé websité for néw players may be gonfhsing’.? =1 out of 1
) Mark awarded for Question 9(d)

' =1 out of 1

(e) remarks on the positive effect of the teacher’s personality? C 1 9

A e In text B, ‘the enthusiasm
i shown by the tutor’ corresponds to
‘the positive effect of the teacher’s

@ comments that the lessons contain.an appropriate amount of'[nfbrmétion?

(9). mentions that guitar plgyers‘ of all, levels wn,I'I make progress? . ‘ B 1 e person allty in the qu estion and
‘ _ o “ o A A provides the correct answer.
(h) comments thart it is accéptable for the site to encourage mémbership? wfT 1] .
: COA ) » Mark awarded for Question 9(e)
[Total: 8] =0 out of 1
Mark awarded for Question 9(f)
=1 out of 1

e In text C, ‘you'll see big
improvements no matter how
experienced you are’ corresponds
to ‘players of all levels will make
progress’ in the question and is
the correct answer.

Mark awarded for Question 9(g)
=0 out of 1

Mark awarded for Question 9(h)
=1 out of 1

Total mark awarded =
6 out of 8

How the candidate could have improved their answer

There were many correct answers. Underlining key words in the questions would have helped to match phrases with
similar meanings in the texts and questions.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner Comments

9 For each question write theuco‘rre{:t letter. A, B ot C on the liné. 0 a The candidate makes an
, . attempt to highlight key words
Which review .... . . . . .
c in the questions, which can be
(@) describes a service whlch q]lpwg,;learnerg,.tosggakdxrﬂg with teachers? e [11 heIpfuI.
L o E g Mark awarded for Question 9(a)
(b) compares the amount of contént.in lessons with, websiies which. aré not free? wdle 1]
s =1 out of 1
() suggests that the-site may not be suitable for more experiencéd players? A [ Mark awarded for Question 9(b)
N o i - T : =1 out of 1
(d) suggests that the nimber of options on the website for new. players may be corifusing? ‘ Mark awarded for Question 9(c)
: : - Com =1 out of 1
; ‘ : _ Mark awarded for Question 9(d)
(e) remarks on the positive effect of the teacher’s personality? :B M1 =1 out of 1
o ) ; Mark awarded for Question 9(e)
(f) comiments that.thé lessons ¢ontain an .app:fqp';riate ad@é@t@finfp_fmayiqﬁ? o C _[_1]9 =1 out of 1
(g) mentions thatguitar players of dll levels will make progress? A [‘110 e In text A, the phrase ‘they
: : : don’t try to include too much’
" (h) comments that it is.acceptable for the site fo ericourage membérship? L. ’ma corresponds to the words in
' ‘ [fotal: 8] the questlop, lessons contain
an appropriate amount of
information’.
Mark awarded for Question 9(f)
=0 out of 1

e In text C, ‘you’ll see big
improvements no matter how
experienced you are’ corresponds
to ‘players of all levels will make
progress’ in the question and is
the correct answer.

Mark awarded for Question 9(g)
=0 out of 1

° In text A, the words ‘you’ll be
sent lots of emails advertising
the lessons, but this is
understandable’ equates to the
meaning of ‘acceptable for the site
to encourage membership’ in the
question.

Mark awarded for Question 9(h)
=0 out of 1

Total mark awarded =
5 out of 8

How the candidate could have improved their answer

The candidate showed good examination technique by underlining some key parts of the questions. More precise
reading would have identified words and phrases in the texts which corresponded to similar words in the questions.
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Example Candidate Responses — Paper 1

Example Candidate Response — low Examiner Comments
9 For each question write the-coirect letter A, B or-C on the line. o ﬂ The answers are clearly written
Which review.... on the I|n.es provided, and yvhen
C the candidate changes their
(a) describes a service which allows learners to speak d_irgcﬂy with teachers? .= 1]

mind, there is a clear crossing

: \ , out and the final answer is written
(b) compares the. amount of contént in lessons with wébsités which are fiot free?

alongside.
(c) suggeststhat the site-may not be suitablé for more exper_iénc‘:ed players? 6 [:I]e Mark awarded for Question 9(a)
: ' =1 out of 1
(d) suggests that the number of optioris on the website for new playets may be confusing? Mark awarded for Question 9(b)
' _5,4}‘,“] =1 out of 1
(e) remarks on the positive effect of the teacher’s personality? /4 [1]9 e In text A, the sentence ‘if you
can already do this, other sites
(® comments that thie lessons contain ari apptopriate amount.of information? 8 11]0 might be more useful’ corresponds

to the meaning in (c), the site
may not be suitable for more
experienced players’.

Mark awarded for Question 9(c)
=0 out of 1

Mark awarded for Question 9(d)
=1 out of 1

e In text B, ‘the enthusiasm
shown by the tutor’ corresponds to
‘the positive effect of the teacher’s
personality’ in the question and
provides the correct answer.

Mark awarded for Question 9(e)
=0 out of 1

0 In text A, the phrase ‘they
don'’t try to include too much’
corresponds to the words in
the question, ‘lessons contain
an appropriate amount of
information’.

Mark awarded for Question 9(f)
=0 out of 1
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued Examiner Comments
(g) mentions that guitar players-of all levels will make progress? ) /‘ [1]6 e Intext C, ‘you’" see big
‘ . ' ' improvements no matter how
(h). comrmierits that it $ acceptable for the Site to encourage membership? g([ﬂe experienced you are’ corresponds

to ‘players of all levels will make
progress’ in the question and is
the correct answer.

[Totdl: 8]

Mark awarded for Question 9(g)
=0 out of 1

@ In text A, the words ‘you’ll be
sent lots of emails advertising
the lessons, but this is
understandable’ equates to the
meaning, ‘acceptable for the site
to encourage membership’ in the
question.

Mark awarded for Question 9(h)
=0 out of 1

Total mark awarded =
3 outof 8

How the candidate could have improved their answer

More careful reading of the texts would have helped to identify words, which were paraphrases of or had a similar
meaning to the words in the question. Underlining key parts of the questions in both Exercises 1 and 2 shows good
examination technique and would have been beneficial.

Common mistakes candidates made in this question

Presentation of answers: many candidates changed their answers. They showed this by writing their second choice
over their first. At times, this was difficult to read and answers could not be credited. When there is a change of mind,
candidates’ final choice of answer should be clearly legible and written close to the line.
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Exercise 3 Note-making

Example Candidate Response — high Examiner Comments

You are going to give a talk about the discovery of the new fish to your class at school. 6 These are successful answers.
In response to ‘How the fish
behaves’ in the question, the
candidate correctly selects a verb

Prepare some:notes to use as the basis for your talk.

Make short notes under each heading.

10 .thls newly discovered fish behaves dlfferenjy from other ‘walking fish”: - o to start each answer.
® AMRS.Hhs fgmr ) gw\g Ho. walk N Mark awarded for Question 10
© \’o c,k,mbs m@mgo@s uglmg A b«ig 190 YA Jg&». k. =3 outof 3
oy keeps.. ko buil. st
® . eePS..CH. TR 5? © In the first answer, the
: candidate provides a description
1 cientists might learn from the;d.isnmtemoi_thjs_pe_\mm e of the image the scientist
© seme.of. it bones weve siwilow. do these of oud anigols. produced, and not what can be
® lf\ﬁ\” &Vl\vj MM Qe\\/?b QIQ\Q\\’“@)“&Q\MQ\Q\: ............ 2] learned from this image.
. Mark awarded for Question 11
12 Why/it was difficult for scientists ta study this new fish: e =1 outof 2
0 she.wey. wok..alowed o vemove e fily ﬁwmw% o _
H —E\w % 2 m\ The candidate correctly
© L V\Qd L. ol Q\'\Q\g W“d A0...ex k. W‘J&Q provides examples of difficulties

for the scientists, and includes all
Motal: 71 key details.

Mark awarded for Question 12
=2 outof 2

Total mark awarded
=6outof7

How the candidate could have improved their answer

The candidate responded well to all the questions in Exercise 3, and included key ideas to most questions. In
Question 11, selecting another idea which detailed what the scientists might learn, rather than describing what the
image of the fish showed would have enabled the candidate to achieve full marks for this exercise.
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Example Candidate Response — middle Examiner Comments

You are going to give a talk about the discovery of the new fish to your'class at school.
Prepare some notes.to use as the basis for your talk.

Make short notes under each heading.

10

1

12

How this newly discovered fish behaves differently from other ‘walking fish’:

<

.

oo X o NS oVl £ WS e 3]

What scientists might learn from the discovery of this new fish:

?V\M)'f"'X-?--g--e--~-------0---(-‘----.e,.ce.ic.ifia....;lm?...Kgcf.......l.t....V.@z.....A.a.@..c.«.':.l.l.;g.a.szez
v Mewoodhe T e (2

Why it was difficult for scientists fo study this new fish:

- Aok alowed . Yo remove.. X S50 Yoo e cawes.. @

e

ﬂ In the second answer, the
candidate selects information
which applies to other ‘walking
fish’ rather than to the newly
discovered fish. In the third
answer, this information is too
general. It needs to include more
precise detail, for example ‘climbs
waterfalls using its body to grip
the rock’.

Mark awarded for Question 10
=1outof 3

9 Two correct answers which
contain all the required key
details.

Mark awarded for Question 11
=2 outof 2

e In the first answer, the
information is incomplete.
Without the more precise detail of
‘needed permission from the Thai
government’ this answer is not
credited.

Mark awarded for Question 12
=1 outof 2

Total mark awarded
=4 outof 7

How the candidate could have improved their answer

The candidate selected four correct answers. Some notes were too general. Focusing on including key information in
Question 10 ‘climbs waterfalls using its body’ and in Question 12 ‘need permission from the Thai government’ would
have improved the candidate’s answer.
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Example Candidate Response — low

You are géing to give a talk about the discovery of the new fish to your class at school.
Prepare some notes to-use as-the basis for your talk..

Make short notes under each heading.

10 How this newly discovered fish behaves differently from other ‘walking fish’:

. FOWX—H\S\WUOO»& ...................... :
+ Pk in colowr ond_hod. o eyes.:
. imbs... wakerSalls I B i 3]

- 11 What scientists might Iearh,from the discovery of-this new fish: ‘
. Some. of the.boneg were. <imilaw ko Yhose o \and. animals..
- Row. lving . ereabras ficek. \eamed Yo welk............ @

12 Why it was difficult for scientists to study this new fish:

: Hou?skecouldgzkkole(oggh%oneo(f‘ém\o\me\,@/d\shz}

Example Candidate Responses — Paper 1

Examiner Comments

ﬂ The question asks ‘How the
fish behaves differently’ and the
candidate needs to use a verb to
start the first answer, for example
‘uses four fins to walk’. The
second answer to this question
is a description of the fish and
does not relate to ‘behaviour’. In
the third answer, the candidate
selects the correct idea, but the
answer is incomplete. Many fish
climb waterfalls, but the new fish
climbs waterfalls using its body,
and this extra detail is required for
the mark to be credited.

Mark awarded for Question 10
=0outof 3

e In the first answer, the
candidate provides a description
of the image the scientist
produced, and not what can be
learned from this image.

Mark awarded for Question 11
=1 outof 2

e In the first answer, the
candidate correctly recognises
one reason why scientists have
difficulty in studying the new fish,
the limited number of fish in the
wild. The second answer does not
provide a reason for the difficulty,
but asks a question. The text
suggests many possible reasons,
among them the difficulty due to
‘not allowed to remove them from
the caves’ and ‘need permission
from the Thai government’.

Mark awarded for Question 12
=1 outof 2

Total mark awarded
=2outof7
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How the candidate could have improved their answer

The candidate responded clearly and succinctly to the questions in this exercise. Focusing on the key words in each
question, ‘behaves’ in Question 10, ‘learn from’ in Question 11, and ‘Why’ in Question 12 and selecting information in
response to these key words would have improved the candidate’s answer.

Common mistakes candidates made in this question

Overall, candidates showed a good understanding of the text. The responses were generally in note form and
candidates selected relevant details. Some candidates’ answers to Question 11 were written in response to Question
12, and candidates needed to highlight key words in the questions in order to select appropriate corresponding
information from the text. Although answers should be brief and contained within the line, there were many examples
of incomplete and generalised answers. It is important that the key idea to each point is included in the note-form
answer.
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Exercise 4 Summary

Example Candidate Response — high Examiner Comments
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[Total: 12]

ﬂ Introduction: the candidate
writes a brief introduction and then
immediately starts with advice.

Six of the eight possible Content
points are identified, so the
candidate achieves full marks for
Content.

e The summary is written clearly
and shows good organisation.
There is cohesion through the
use of linking words and phrases,
for example ‘To start with...", Not
only...” and ‘Apart from...". The
candidate demonstrates good use
of their own words, for example
‘something you should do’ for ‘I'd
recommend’ and ‘listening closely
to your guide is very important’
for ‘listen carefully to your guide-
you won't regret it’. However, the
response is longer than 90 words,
and although it fits the top band
criteria, because it is too long,
it can only be credited with four
marks for Language.

Mark awarded for Content
=6 out of 6

Mark awarded for Language
=4 out of 6

Total mark awarded
=10 out of 12

How the candidate could have

improved their answer

The brief introductory sentence addressed the task. The response fulfilled the criteria for marks in the top band
for Language, but did not achieve this, as the number of words written went beyond the 90-word maximum. If the
response had included only details relevant to ‘giving advice’, it would have stayed within the word limit and improved

the mark.
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Example Candidate Response — middle Examiner Comments
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ﬂ Content: the candidate
immediately starts with relevant
information. Five of the eight
possible points are identified, so
the candidate achieves five out of
six marks for Content.

e Language: the points are
presented in a logical order, and
there is some attempt to connect
ideas, using linking words such
as ‘and,” ‘when’, ‘if’, and finally’.
The candidate attempts to use
their own words, for example
‘is necessary arriving early’ and
‘when you go think you are a bird’.
Overall there is some reliance on
the language from the text both
in grammar and vocabulary. The
candidate shows a reasonable
level of accuracy of grammar and
vocabulary, and the response
achieves three marks out of six for
Language.

Mark awarded for Content
=5out of 6

Mark awarded for Language
=3 outof 6

Total mark awarded
= 8 out of 12

How the candidate could have improved their answer

The candidate addressed the task from the first sentence and the first paragraph included three Content points. The
second paragraph however, contained information about the activity which was less relevant and included only one
Content point. Focusing only on relevant details would have improved the mark for Content. Greater grammatical
accuracy and the re-phrasing of the text language would have meant a higher mark for Language.
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Example Candidate Response — low
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Examiner Comments

ﬂ Content: the candidate includes
an unnecessarily long description
of the park and the activities
carried out there. This uses up
many words required to address
the focus of the task, which is
to give advice to visitors. As
the response is longer than the
requirement for a maximum of 90
words, the final point identified by
the candidate, ‘bring waterproof
jacket’ is not credited. The
response includes four Content
points, so the candidate achieves
four out of six marks for Content.

9 Language: the response shows
heavy reliance on the language
from the text, with little attempt
at paraphrasing, either by using
synonyms or by re-ordering the
grammar of sentences. This
reliance on copying limits the
Language mark to the bottom
band, and this response achieves
one mark out of six for Language.

Mark awarded for Content
=4 out of 6

Mark awarded for Language
=1 out of 6

Total mark awarded
=5 out of 12

How the candidate could have improved their answer

This response showed little understanding of the techniques of summary writing. The first four lines described the park
and made no attempt to address the task of giving advice to visitors. More precise reading of the task and including
only relevant information would have improved the response. From a language point of view, the candidate relied to

a great extent on copying sentences from the text. If the candidate had attempted to rework some of the grammatical
structures in the text, or used some of their own words, the response would have achieved a higher mark.

Common mistakes candidates made in this question

* Length of summary: many candidates wrote a summary which went beyond the 90-word limit. This limited the
Language mark that could be achieved, and Content points included after the word limit were not credited.

* Relevance: many responses also included irrelevant or non-essential details, which used up words and often led to

overlong answers.

» Language: relying too closely on the language in the text prevented candidates from achieving marks in the top
band. Responses which copied sentences with no attempt at paraphrasing were limited to a mark in the bottom

band for Language.
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Exercise 5 Writing

Example Candidate Response — high Examiner Comments
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and the candidate expresses
their feelings after the meeting.
The information is communicated
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"(lr\odrsmmmaangekgehe,hcg@rm&.,ﬁ':j&mm clearly.
thua,ymwt\ptwdo{im .............................................. — e Language: the writing includes

...................................................................................................................................................... main|y common Vocabu]ary’
‘surprised, excited, amazing’, but
there is also an attempt at more
ambitious vocabulary, such as
‘stage, glad’. Grammatically, there
are some common errors, ‘what
happened in yesterday’, ‘wait

this prize’, but also the candidate
attempts compound and complex
structures and a more ambitious
final sentence. Overall, the writing
shows good organisation and is
cohesive.

Mark awarded for Content
=5out of 6

Mark awarded for Language
=5outof 6

Total mark awarded
=10 out of 12

How the candidate could have improved their answer

The candidate made a good attempt at this task. Two of the three points showed development of detail. If the
candidate had explained in more detail what they had to do to win the competition, instead of just saying that they won
it, the response would have been improved. In terms of Language, the writing would have been improved by greater
accuracy of simple structures, and an attempt to include a wider range of vocabulary.
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Example Candidate Response — middle Examiner Comments
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ﬂ The candidate provides a
suitably short introduction and
shows awareness of the target
reader through asking a question.

e Content: this is generally
communicated clearly. The
candidate develops the first
point well, by explaining what the
competition is about and who the
other contestants are. The second
point also provides some detail
about the meeting, where it was,
what they did and the feelings at
the time. The third point is less
clear, but positive feelings can be
inferred by the reader.

e Language: the candidate is
successful with using common
vocabulary. There are errors in
the simple structures, such as
‘ yesterday | meeting’, ‘I went
meet’ ‘we talk’. There is some
sense of cohesion throughout the
writing, with the use of connecting
phrases such as ‘ Because of
this.” ‘so’ and ‘Now’. The ideas
follow logically, but there is a lack
of paragraphing.

Mark awarded for Content
=5 outof 6

Mark awarded for Language
=3 outof 6

Total mark awarded
= 8 out of 12

How the candidate could have improved their answer

The candidate wrote relevantly and fulfilled the task. The response was rather narrative in tone, and would have
been improved if the candidate had engaged with the reader in the middle of the email as well as in the first and
briefly in the last sentence. Using paragraphs to separate different ideas would have improved organisation, and

communication would have been clearer with greater grammatical accuracy.
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Example Candidate Response — low
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Examiner Comments

ﬂ Introduction: the candidate
writes a short paragraph and
engages the target reader in a
suitably informal tone.

e Content: there is a lack
of clarity in the way some of
the information is presented
particularly for the first point,
which suggests misunderstanding
of the task. The writing suggests
that the competition is about
finding a famous person, rather
than a competition in which
meeting the famous person is the
prize. The candidate addresses
the second and third points
and provides some details, and
maintains engagement with
the reader through the use of a
rhetorical question in the third
paragraph.

e Language: the candidate
is successful with the use of
simple grammatical structures,
particularly the past tense,
and uses simple vocabulary to
describe and explain details. The
writing shows some organisation
through paragraphing, and ideas
are generally connected by the
use of time words such as ‘before.
after, while’.

Mark awarded for Content
=3 outof 6

Mark awarded for Language
=4 out of 6

Total mark awarded
=7 out of 12
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How the candidate could have improved their answer

There was an attempt to fulfil the task, but some of the ideas in the email were not presented clearly. The details of
the competition and what the candidate had to do to win it appeared to be misunderstood. A clearer explanation of the
details of winning the competition would have improved the content of the response. If the candidate had used less
common vocabulary and some more complex sentences, this would have improved the response.

Common mistakes candidates made in this question

Content:

* A common mistake was writing a narrative in a descriptive style, without successfully demonstrating a sense of
purpose and audience. Without demonstrating awareness of the target audience, responses cannot achieve marks
in the top band for Content.

* Many candidates focused too much on the competition and meeting the famous person and not enough on the
feelings afterwards. Using paragraphs to separate ideas helps to organise the writing and provides a sense of
balance.

Language:

» There was too much reliance on common vocabulary with little attempt at more complex language, and there were
frequent errors in simple grammatical structures, usually in compound or complex sentences.
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Exercise 6 Writing

Example Candidate Response — high Examiner Comments
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ﬂ Introduction: the candidate’s
introduction immediately engages
with the topic and clearly states
their point of view. This signposts
to the reader the direction the
writing will take.

e Content: the candidate uses all
four prompts as the basis of their
article, and extends and develops
each one, by including their own
details and ideas. Paragraph 1
continues to develop the writer’s
side of the discussion, at the same
time extending the opinion to
include other students. Paragraph
2 suggests an opposing view,
providing a reason why learning
music in school might be useful. In
the third and concluding paragraph,
the candidate returns to their
original position, and combines
two of the prompts into a final idea.
Overall, the candidate uses the
appropriate register to communicate
ideas clearly and includes some
development of the prompts.

e Language: the candidate
writes generally accurately, using
a range of simple grammatical
structures and common
vocabulary. The writing is well
organised through the use of
paragraph linking phrases,
‘However, On the other hand’,
and also within paragraphs ideas
are connected mainly by using
relative clauses and simple linking
phrases, such as ‘as a result,
so that, and’. Overall, this is an
organised and cohesive article.

Mark awarded for Content
=5out of 6

Mark awarded for Language
=5 out of 6

Total mark awarded
=10 out of 12
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How the candidate could have improved their answer

The candidate’s response was relevant and ideas were presented clearly. The article relied on the prompts provided
and would have been improved if it had been extended to include more of the candidate’s own ideas. The writing was
accurate, but offered no ambitious vocabulary. A wider range of topic-related vocabulary would have provided more

depth and interest to the article.
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Example Candidate Response — middle Examiner Comments
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ﬂ Introduction: the candidate
starts with a suitably brief
introduction and the opposing
view to their own.

e Content: the candidate
responds to the task to a certain
extent, but also includes ideas
which digress away from the
topic. The second paragraph
which contains the main ideas
develops the idea of music being
of personal importance as a
way of relaxing. Only at the end
does the candidate return to the
topic of learning music in school.
Overall, the writing attempts to
fulfil the task, although appears
incomplete.

e Language: the candidate uses
simple grammatical structures and
mainly common vocabulary. There
is an attempt at more ambitious
language, as in ‘You can relax
and switch off the outside world’,
but there are also many errors
in simple language, for example
‘does music lesson important’
and ‘I usually listening...’. The
candidate attempts to organise
the writing into paragraphs and to
connect ideas simply using ‘but’
and ‘because’.

Mark awarded for Content
=4 out of 6

Mark awarded for Language
=4 out of 6

Total mark awarded
= 8 out of 12

How the candidate could have improved their answer

The candidate’s response included interesting ideas, but was not entirely relevant. If the candidate had used the
idea that music helps people to relax in a school context, this would have improved the content of the article. Greater
grammatical accuracy in simple sentences, and separating the ideas in the final paragraph to provide a conclusion,

would have improved the organisation and overall effectiveness of the writing.

28

Cambridge IGCSE/IGCSE (9-1) English as a Second Language 0510/0511/0991/0993




Example Candidate Responses — Paper 1

Example Candidate Response — low
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Examiner Comments

ﬂ Introduction: the answer
directly addresses the question
and offers the candidate’s opinion.

9 Content: the response is
considerably shorter than the
minimum word length, and
provides little opportunity for
development of ideas. This
limits the article to low marks for
Content. The written prompts form
the basis for the ideas, and the
candidate attempts to use them
in an original way, ‘there are more
important things to do in life’ and
includes an original idea, ‘even
when doing work we can listen to
music’.

e Language: the candidate writes
generally accurately, although
the errors cause a breakdown
in communication in the final
sentence. There is some ambition
in language, as in ‘it will never
take you ahead in life’, and the
candidate attempts cohesion
through the use of a relative
clause and simple connecting
words, ‘because, and, but’.

Mark awarded for Content
=2 outof 6

Mark awarded for Language
=3 outof 6

Total mark awarded
=5 out of 12
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How the candidate could have improved their answer

The candidate only partially fulfilled the task. More extensive development of the ideas given and the inclusion of
further ideas would have improved the content of the article.

Common mistakes candidates made in this question

Content:

Many responses focused too much on the written prompts, with at times, no further development of the ideas.
When using the prompts as a basis for organising the writing, it is important to extend these prompts by including
further information. Higher marks can be awarded when the candidate moves away from the prompts to include
their own ideas.

A common mistake was to take the topic out of context and discuss the wider role of music in our lives. Careful
reading of the task is necessary to write relevantly. Other candidates presented arguments on both sides of the
topic, but omitted their own opinion, which was required in the question.

Language:

Many responses lacked topic-related vocabulary, and the topic was discussed without any mention of words
connected to music.

Another frequent mistake was to use connecting words such as ‘Nevertheless’, ‘However’ and ‘Moreover’ to
start sentences without fully understanding the function of such words. This led at times to a rather contradictory
discussion, and a loss of communication.

Many candidates wrote a long continuous article, without separating ideas into paragraphs. This lack of
organisation often led to confused arguments and an unclear message.
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